
ETA-8 RIGID END TRUCK ASSEMBLY 
(WITHOUT KICKUP) 

1 20024 ETA-8 Three Hole Mount Load Trolley 2
2

52450 M16x2.0 Prevailing Torque Nut

3

53070 5/8" SAE Flat Washer

24
53405 5/8 F436 (A325 Structural Flat Washer)

4

5

52315 5/8-11 Anco 2H Coloc Nut

2
6

L4 x 3 1/2 x 3/8
4

2

STOCK
CODEREF. DESCRIPTION QUANTITY

54

1

7
6

3

5

2

8

4

45/8-11 x 2 1/4" A325 Bolt510097

4

1

9

51890 M16x2.0 x 90mm HHB8 2
1ETA-8 Rigid End Truck Block785659

© Copyright 2014, Unified Industries, Inc. All Rights Reserved.  www.unified-ind.com


